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QUESTION 1

Which issue can occur if the lot size-dependent in-house production time in the material master is not updated after
changing the routing? 

A. Lead time scheduling cannot take place. 

B. Dependent requirements request the components from the bill of materials at wrong times when using basic dates
scheduling. 

C. Requirements planning creates an appropriate exception message in basic dates scheduling. 

D. Subsequent capacity planning is no longer possible due to the obsolete scheduling parameters. 

Correct Answer: B 

 

QUESTION 2

What is a feature of the simu-lation mode for material requirements planning in SAP ECC? 

A. It calculates the delay time which may occur in planning. 

B. It triggers multilevel bottom-up scheduling. 

C. It propagates exception messages from a component to the finished product. 

D. It posts planning results to the database automatically. 

Correct Answer: A 

 

QUESTION 3

An enterprise wants to use SAP ECC requirements planning together with the NETPL procedure (net change planning
in the planning horizon). The planning horizon should be set equally for all materials by default. However, some
materials need to have a different planning horizon. 

Which procedure do you recommend for setting the planning horizon? 

A. Set the planning horizon in the MRP groups in Customizing and store deviant entries in the material masters for the
corresponding materials. 

B. Set the planning horizon in the plant parameters in Customizing and store deviant entries in the material masters for
corresponding materials. 

C. Set the planning horizon in the MRP groups and assign deviant entries via the plant parameter settings in
Customizing. 

D. Set the planning horizon in the plant parameters in Customizing and assign deviant entries via the MRP groups for
the corresponding materials. 

Correct Answer: D 
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QUESTION 4

Which of the following activities is necessary for the capacity availability check that can be carried out automatically
when a production order is released? 

A. Set the finite scheduling indicator and assign a checking rule in the work center for the operation to be checked. 

B. Activate the availability check and assign an overall profile in the checking control of the order type / plant
combination. 

C. Assign an appropriate availability checking rule to the material master for the product. 

D. Activate the availability check and assign an overall profile in the production scheduling profile. 

Correct Answer: B 

 

 

QUESTION 5

Which statements are true for ECC Long-Term Planning (LTP)? (Choose two.) 

A. Reorder point planned materials can be included in long-term planning. 

B. In case of external procurement, long-term planning creates purchase requisitions. 

C. A planning scenario must be released to use it in long-term planning. 

D. Long-term planning generally is operational planning of important components. 

Correct Answer: AC 
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